Sho) Po) € 7 mmwg boj

- - =bb'S o
w%@ .WL_SNT : LJW\ byl e3P = Dk
Y e (B +1) 000 =hLhR

= 98
250°0 =Vl

UWO‘DN 21

>0 = QOh
300 'UD2A |S2402U 2y}
04 J2MSUD JNOA punoJ pup 24 a5 ¢Aauow siy 2|qnop
04 WY 2%Dy 41 |jim buoj moH Ajsnonuijuod papunodwiod
‘4S2J24U| 9,G 4D JuUno23p uv Ul 00Z$ paiisodap oL (3

g80C
280

!

d =
sz2E°0 d = 0
24 =
(SXSELO D) d = o "JD||Op 4S24D2U
Y4 04 punod pup 24 = v @s) ¢did4 ay4 Jos 000E$
2ADY 0} }S2AUI 2YS PINOYS Yanw moy ‘Ajsnonuijuod
papunodwod jsadajul 9,2 2 sAbd jisodap o
94D21414422 UD2A G D JT ‘MOU WOJS SUD2A G UoILDNPDUD
jooyas ybiy 4o diuy o yo Aauow bujaos st aubp (Q

.t@m_\ n;‘

¢4ybnoq soy qog 4oy4 UDI pash 2yt JO 4SO Y4 SI
10yy 41 62H8$ YoDad 04 2%Dy Aj|jpnuupiwas papunoduiod
152.424U1 %6 40 000G$ F0 [pdioutud o |)im buo| moH (D

2 W) e PIT| Shbg) QOP) - SheT

g sty yral SHET 8 )=V

L (ET0 ) oob) =y

-+ =
Qormm&o. +1) <o) =4

¢P2UJD2 3y SDY {S2424Ul YONW MOH ¢SJUD2A g JO pu?
3y 4D 2ADY 3Y ||IM Yonw Mo "AjJ2fuonb papunodwiod

452u24u1 9,%9 40 SUD2A g 404 OOPT$ &a&% 214N (g
Ko’ 'K
3=bbS e qe = STET
Fe=kb Nl o Bo ae = 97| ol
, v.m&o N =94

e
g T wq AXE = I~
@ = A%hw._.mm._u._.:_ 0081$ uJp2 04 LUNO22D

U} %D} 41 ||1m Buo} mop “Ajjpnuupiwas papuniodwod
‘4S32J24u] [DNUUD %8 4D Yubq D Ul 00OE$ s+hd py1y (v

L& HDa=y

JS2J2}u7 punodwo)

sb0 buisn uoiyoaydd: - - sagopN



Decibel Voitage Gain
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F) If input to an amplifier is 0.6 volts and output is 40
volts, find the decibel voltage gain.
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G) Anamplifier delivers a 37 decibel voltage gain. If
the input voltage is 0.9, find the output voltage.
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Exponential Growth and Decay - Carbon Dating

H) A bone originally contained 150 mg of carbon-14 now
contains 85 mg of that isotope. Determine the
approximate age of the bone to the nearest 100
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I) Anisotope has a :n:n life of approximately 12
How many days will it take for a 12 mg sample of this
isotope to decay to 7 mg? Round to the nearest day.
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J) A bone originally had 180 mg of carbon-14 now has
124 mg of carbon-14. How old is the bone?
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